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QUESTION 1

In which cases do you need to use ccBPM processes? (Choose two)
A. When collecting messages

B. When querying databases

C. When using a synchronous/asynchronous bridge

D. When using scenarios that are based on an AEX installation

Correct Answer: AC

QUESTION 2

You have configured and activated a SOAP communication channel on a dual-stack system. Now you want to monitor
the status of this SOAP adapter.

Which of the following tools can you use? (Choose three)
A. Central Pl Monitoring (PiMon)

B. SAP Solution Manager

C. SOA Manager

D. Transaction SXMB_MONI

E. Runtime Workbench

Correct Answer:. ABE

QUESTION 3

Which of the following configuration objects can you use to activate XML validation of a message payload in SAP
NetWeaver Process Integration? (Choose three)

A. Integrated configuration
B. Interface determination
C. Receiver agreement

D. Receiver determination
E. Sender agreement

Correct Answer: ACE
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QUESTION 4

The data type used in your mapping program has been structurally modified (for example, the parent name or the
namespace has been changed). What is the next step you have to perform?

A. Adjust mappings using the data.

B. Reload test messages.

C. Adjust the structure of the inconsistencies in the data type.
D. Map original nodes to new nodes using drag and drop.

Correct Answer: A

QUESTION 5

What are advantages of message packaging in the BPE? (Choose two)
A. Improved fault tolerance

B. Improved alert handling

C. Improved message throughput

D. Improved performance

Correct Answer: CD
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